Installation and
Operating Instructions
Jerdill 5 S Sl Cilaglas
Ventilating Fan
4 5gill Aa 5 s
24CMUA Model No,
24CMHA
27CMHA

This instruction takes pictures of model

27CMHA for example.
CONTENTS A di (Ao 27CMHA Jiasall 1) sm ilaglaill 038 8 a2dis e giaall
SAFETY INSTRUCTIONS ... 2 2 e Ole¥) gl
INSTALLATION CAUTIONS ............ 3~4 e Sl @l el
INSTALLATION REQUIREMENTS ........ S B ] Sl lillaia
SUPPLIED ACCESSORIES ..o R 58 sl claaldll
PARTS NAME AND DIMENSIONS ....... LA S abal 5 il slou
HOWTO INSTALL oo /=1 T e, S ) 4Gy Hh
TESTRUN .., 11 -
.................................................... )1-.‘-‘3\ o\);\
USE AND MAINTENANCE N e
INSTRUCTIONS ....oovooveeee 12 12 sl ol ol
HOW TO MAINTENANCE ... . . 13 13 Adballs plall 4s
TROUBLESHOOTING ......covvvviiiiinnnnn, 14 14 LeaSla) 5 sUaaY) Caligiul
WIRING DIAGRAM ... 14 14 e ALY Jpam 55 Jaladiae
SPECIFICATIONS ..o 15 15 e liaal sal)
AMCA SPECIFICATIONS .. BACK COVER G G e, AMCA ial 5o

Thank you for purchasing this KDK product.

Please read these instructions carefully before attempting to install, operate or service the
KDK product. Please carefully read “INSTALLATION CAUTIONS" (P.3~4) of this manual
before installation. Failure to comply with instructions could result in personal injury or
property damage. Please explain to users how to operate and maintain the product after
installation, and this booklet should be presented to users. Please carefully read “USE AND
MAINTENANCE INSTRUCTIONS” (P. 12) of this instructions before operation.

Please retain this booklet for future reference.

KDK 4S8 ciladia (saa) ol yd e 17843

ey " S il pat" Be) 8 o g KDK geite Ailpea sl Qi i A glave 8 Aliny ilaglaill o3 36 3 sla
Crrediinal Sle ) oay lSbaally i pual sl Aall Al 4ie Ly 8 Cilabeill JeY) ade caniill U8 Claglaill 038 3 (4 ~ 3 daiuall)
gliny "Rilgeal) 5 AN il 568 3y (peritl e o 1an (e g )y el il i Ay by

/ i) 0 laledl) 038 (pain (12 daiis)
\ ) gﬁ‘)ﬂ Jal O i€l 13 Laleiay) sy



SAFETY INSTRUCTIONS Please observe strictly

ilin, Leile | ya sl

Ol Cilaglas

~

Al o) a) U8 L uls Josd
B This product is not intended for use by persons (including children) with reduced physical,
sensory or mental capabilities, or lack of experience and knowledge, unless they have
been given supervision or instruction concerning use of the product by a person
responsible for their safety.
Children should be supervised to ensure that they do not play with the product.
e ol B ganall Aliall i dpeal) of Alavadl ol a8l (553 (JUlaY) Sld i Lay) GalalY) U8 (e 230D paal ye piiall 138
il e e add JB (e geitall aladiuly Blais Lad a8 ) al8) i dlld () ol La oddjmall 5 3 54))
N _GjmgegjpemmﬁiJHQ\)d}Uduﬂ\J\c@goigyy

Bl Disconnect power supply before maintenance.

The following explanations must always be observed in order to prevent harm to users or
other people and prevent damage to property.
Sl ) pall gl o AT paladl g o aeasiiveddly ) ) ol Jal (e A < il Ble ) ye cang
B The following displays are classified and explained to what extent harm or damage occurs
when the display details are ignored and the unit in question is wrongly used.
Bas sl (.\\JS:\M\ V,S})},.Al oda UAL;\ d..gmmdw‘\‘ﬁu 13) QJA,!JEL;JH G5 pall e i AUl sall C‘).uju.._umﬁ(u
PRSI LY

V\/AR N | N G This indication means: Must be treated seriously that this
. may result in death or serious injury.
A

P Al Al sl sl el e Lany o8 Cus Goany 4y Jalail cany 1 i 5LEY) 028

CAUT' O N This indication means: Must be treated seriously that this
may result in injury or physical damage.

CRTEY] g i ol Al elld e Uity 98 Cua Dpaay 4y Jaladl) Cany 1 i 5 )LEY) 028

e

B The types of details to be observed are classified and explained in the following illustrated
displays. (below are the series of illustrated displays)

This symbol indicates the item “PROHIBITED" to do.
Aol ") sl audl 13 of s el 13

This symbol indicates the “COMPULSORY" item that must be
followed without failure.

09 4ol ang Mg lhal" i ey el 1

f”f This symbol indicates the item is “CAUTION".

2 2Ll Ml Sl 138 o iy e 13




INSTALLATION CAUTIONS

S il G s

/

{ /NWARNING]

J:{A;SJ N

B The product must be grounded.
il Gl U ey

electric leakage.
Alia 46 s A S dada oy 8 Y
B Please select 60227 IEC 53 ordinary
polyvinyl chloride sheathed cord.
Nominal cross-sectional area of
conductors is 3x0.75 mm2.
el d,g.gﬁul‘;.dl 4,48 Cithal) ) LAAS A
A dua i) dahaial) 53 |EC 60227
284 0.75%3 (A s gall
Otherwise, it may cause fire.
L8 s el s 8 Y

M Please install an all-pole switch
which the contact separation is
more than 3 mm (all-pole switch).
Je 088y G Gl IS Plika S 5

() S 7 Uika) aa 3 e SAST uadlil)

Otherwise, it may cause short

circuit, thus resulting fire.

g A eI B lall ) gl 8ty S Y
G~ e

B Wiring is required to follow the
local wiring regulations.

LY G 5 il o ) S 5 A o
PIEA]

o

Otherwise, it may cause fire.
L a b Gy 8 )

M Installation should be done by
authorized person. The product
should be installed firmly.

A g pan padd da) g cuS U o o g
Ll (8 piiall s 5 g
Otherwise, the product may fall
down and it may cause injury.
ol Gy 5 el Ly 8 Y)

Otherwise, it may cause electric
shock when there is any trouble or

B If the supply cord is damaged, it
must be replaced by the
manufacturer, its service agent or
similarly qualified persons in order
to avoid a hazard.

Leladia) caa (ABUally 1Y) g g il Al

waday) o) Aaaddl JuS g ol cArduanl) AS il S8 e
LBl cuiadl elll g Gola gall

Otherwise, it may cause fire or

electric shock.

Al 5eS Clada Gaad 8 (V)

M This product is applicable to the
places where the humidity is not
too high.

Aadiial) 4y gh l cld Sl Guulia iiall 138
Otherwise, it may lead to short
circuit or electric shock.

PIPURRVEEPYOS FUIPLAGE REI CRETWE R B
A S deaa

Hl Do not install the power switch in
bathroom.

laall B el gl FUSa quS i a85 Y
Otherwise, it may cause short
circuit, thus resulting fire.

i s A eS8 il ) pacd (B oty B )
B~ dde

B Do not install the product as the
method which is not approved in
the instruction.
lagdeil) B Badinall b Ay pally geiiall qus iy a5 Y

Otherwise, the product may fall

down and it may cause injury.

ol sy 5 il Laduy 8 )

B Do not operate the product other
than the voltage in name plate.

2853 (s ST (g S g gkl Sy Al Y

) dag i e

Otherwise, it may damage the

product or cause fire.

s Ao iy ol i) ) i Y

B Do not install the fan out of the
window and wall.

A9 BBU A da g sall S g 85 Y
Otherwise, the product may get
wet in the rain and cause short
circuit.

Gang g phaall o s ilal) raay 38 V)
Al s b b )

=

Qe @

O

1%

3



INSTALLATION CAUTIONS

S il G s

p [ACAUHO&]

e

B The product must be mounted on a
building which is strong enough. To
ensure it can bear over 5 times of
product weight. The building must
be reinforced if its strength can not
be ensured.

A A Ly 5 58 e A S A

G () il 5 Jaady o oSy 4l Glacal
Alsh Glada (Saall (a OS5l 131 el a0 iy
Otherwise, the product may fall
down and it may cause injury.

ol a5 el Jaduy 8 )

Lplaly il gSal) qus 5

— =

HﬂT,

W

r

—

—
b id

Otherwise, it may injure person
caused by product’s falling off.
Ade el b i Gy gadd (gl Clay 38 V)
B The product must be installed tightly.
el el qus S
Otherwise, it may injure person
caused by product’s falling off.
Ade i) i G (i (5l Clay 8 )
B Please wear gloves when installing
this product.
A G 5 el U8 61551
Failure to follow this may lead
to unexpected injury.

Anigie e Aol ) (535 5 138 gl e

-

B Components must be installed tightly.

Bl Do avoid the back-flow of gas into
the room from the open flue of
flammable gas or other open-fire
appliances.

aaal) Gagal ¢ha &bl eaSal) SR (35 Gaiad
Ol 3l 6 g Jaiddl JAaN jlall 7 gidal)
s A da gida

Otherwise, it may cause fire.
A8y s el sy 8 Y

B The special-purpose or dedicated
parts, such as mounting fixtures,
must be used if such parts are
provided.

Jia panadiall (o il @l adal) aladiud qiag
il o2 g a3 03] e i) iy
Otherwise, the product may fall
down and it may cause injury.
ool sy g i) Jadey 8 Y

B The lowest surface of this product
should be installed above 2.3 m
from the floor after installation.

o ziial) 13 i) el GuS 5 i
LS Al ey el (e 2.3 gl )

—

I

>2.3m | 523<

Avoiding any accident
&aal (’5\ cuadl

l Do not reconstruct this product.
Zal) 138 sl a5 Y
® Otherwise, it may cause damage

to the product or injury.
ALY Sl pall e B Y

\




INSTALLATION REQUIREMENTS

S il clllatig

Please observe the following requirement. Otherwise, it may cause the product aging and
breakdown.
il Jlaxdy i lgile je pae cadan V)5 40U da g 5l sle) je (o

B Do not install the product where B Please set a square inspection hole of
there is steam. at least 45 cm.
O 4 adga B il gy W85 Y 0 45 s Lgialie Axy e (and dat i o

M Do not install the product in places

with high temperature. B Please set ventilation holes.
Adle 5 da o ld (Sl A peiiall ity S5 Y Aol e asa ola g
n _[T1

N )%

“=--2" Above 50 °C

=
7/
Tsiada 2 50 e el 2O
’m S a2 50 0o

B Do not install onto slanting ceiling.
e i o 4aS iy o8 Y

b

0

Prevent the water condensed in the duct
pipe flow back into the body.
) Jaly el 38 e 3L G il 8 S el aial

B To install the duct, avoid the following cases.
b Lo ia bl S i

Corrugated
Blpe ‘
da gadll CalsY)
X ©? Ada&tir‘% X Oﬂ? X a—

B Do not install the product in the place with much dust.
ksl e IS L (ST (B iall iy o5 Y
B The product is not provided with all-pole switch and leakage protection switch.
Please purchase them in market.
Gl o Ll pd a5 o pmal) Al Uike W 5 Y1 S Uiy iiall 5 o ol
B \When install plastic part, do not exert too much strength to fix the screw, otherwise,

the product would be damaged. ) 5 591 el il € 58 55 Y Sl A a5 i



SUPPLIED ACCESSORIES

3 giall Chlaslal)

The following attachments are enclosed in the packing box of ventilating fan. Be sure to
check if they are complete after unpacking, and if anything is missed, contact our After-Sales

Service Center or the dealer.
Lo Laad S jay JuaiVl (o s 13 gia Lgia o o8 (5 S 13] 5 Aalall o8 2y ALalS Uil (o oS A gl An gy ey 438 ya 3 00 il

ol ) ey
No. | Drawing Name and purpose Quantity
3 ?u‘)ﬂ ua):d\_g euY\ :\:\ASM
Installation and operating instructions 1
Q) 5 o ) Cilalas

e Machine screw (M4x8), used to fix the adaptor to fan body 1
Aa gl prnsy sl il aadig (M4 x8) il e

Machine screw (M4x8), used to install
the suspension bracket to the frame 4
DY) e Galaill 435S il aading ((M4x8) il &

(=
Tapping screw (@4x20)
® | (B4 x 20) A 2 6
@ Louver 1
4seill Ao gana
‘ Suspension bracket 5
® | bz PRREIEYES
= Vibration-resistance rubber piece 2
@ \ ) 558U e sliall Jalaal) Galad
Rubber washer No.1 )
@ @ 1 48 dukaladl) ddlal
Rubber washer No.2
@ 2 8 dskaladll dalal) 2
Washer
®| & ) 4
N\

©




PARTS NAME AND DIMENSIONS

Waalay 5 adadll ¢lawd

Unit: mm
aa 2l Fan guard (Only
Louver sl ic seaa  fOr model 27CMHA)
R Jasall 3 La) 3a g jall 3
(27CMHA Cover
Machine screw ol
—~ Gl &
55| el -
O
N Adaptor :
/ J3aal 6|\ 3
4-5x9 Slot Casing assembly ™
9 x 5.4 i=w Louver set plate il e sas
i 5l Aa G ) - '
Model No. Duct size
o | A B C|D|E|FIG|H gl
24CMUA
278|255(103[200|231|300| 17 | 298| 2100
24CMHA
27CMHA  [307(284|115(240|263|330| 17 |2148| 150

HOW TO INSTALL

S il 44y )k

1-1. Fan body installation method 1 (with wooden joist)

(-

3381 ) ae) 1 48 ,hall dn g jall anen S 3

@ Construct the wooden frame and attach
it horizontally to the ceiling joist. Prohibit
attaching the frame in other direction.
The distance between ceiling and the top
of body should not be less than 20 mm.

DY) B ey il 508l (8 LAl 4l aa Y el
puall (e g slall o all s cand) s AdLid) AV olady) B
25~30 mm .20 oe JE o Y

~30~25 [JA
/£ —A/~
Wooden joist 1
Anaal) sl ) }/;/aorggen
30 g(])m Al Ly
= / > Reinforcemig\t
Unit: mm ”
e . BJA)M
Model No. | 24CMUA
S35k 24CMHA | 27CMAA
A Size
o 240+2 270+2

@ Remove the adaptor, caution label
and tape on adaptor.
sl o day pall 5l Guale s oJ gaall A1 5L o8
Remove caution label and tape
Loy il s psdail) Guale A1 5L o8

Remove adaptor
Ol A1 o



HOW TO INSTALL

3 Keep adaptor on left of wooden frame and
attach it to wooden frame.
csrdiad JaY (B aka ) ae ddll HUaY e jlad) e J sl Jaal

Wooden frame
il Lyl

Wooden frame
PRUIIRY

® Make power cord pass through wooden
frame, push fan body into wooden frame,
to fix the fan body and adaptor.

Power Wooden Insert se.cgre.ly
cord frame ol )
Jis
FEIR
Fan body
body Flange sl s
da gl s qaal

(" Notice sl )

B Power cord should reserve more than
300 mm, otherwise main body is hard
to disassemble when maintenance.
Y5 cae 300 0 ST J a4 B O g A3 (LIS
Allall vie ol aual) S8 Caall (e Soud
B When fan body is pushed into
wooden frame, be careful not to
pinch the power cord.
és L)a)"‘\ =T ¢6u.uaj\ )Uai}[\@:%;}ﬂ\em;laiu'aﬁc
A8 JAS e Jasall aae

@ Connect the power cord (including
earth) to lead wire in accordance with
wiring diagram.

(V) elld b L) A8 @l a3 o8
ALY Lhae b il caus e @DLY) 4 51

Power cord

Lead wire

from power

supply Fan body

DY a3 iasall aua
A8kl 35 5 (e

(Notice sl )

Wiring should be firmly connected
without any looseness.
Connection example as follows:
e 5 5la ) gl 050 858 MY Jra 58 a3 o oy
rasill e Jie b Led

Terminal (not supplied)

(333 %) b
Live (L) Brown (L
Neutral (N) (L) o~ (L)< ) Blue (N)
Power (N) 2lss (N) &30
supply Byl Fan
Sl slady) G -8 ]- = bOdy
Sl el -9 ]~ LENPET|JPWEN
Power Earth  Green/Yellow Power cord
supply cord «=)' (Earth) ~ of fan body
eSSl dlasy) Jis () Sinalf pmdl sl A8 IS
gl

M It is required to use terminal (not
supplied) that complies IEC 60998.
e 385 ) (2530 ) ikl aladind Gy
.60998 IEC
B Make sure all connections are

fastened firmly after wiring is finished.
LY (e e lgiV) aey alSaly Blua il QS i (e S



HOW TO INSTALL

® After fixing temporarily with machine
screw (M4x8), fix fan body firmly with
4 tapping screws (@4x20). Then fix
with machine screw (M4x8) firmly.
o il o8 (M4 x 8 Copfill & o i pall il amy
(B4 x 20) Ral sl ) 1 saebise 4 AT o Ayl

Machine screw
(M4x8)
Gl e

(M4 x 8)

4 Tapping screws
@4%20)
@4 x 20) &5l 21 1 4

/N CAUTION

A4

we

Do not install unremovable parts
under the casing assembly.
Ao gana Jiud AU ALY 8 o) Y cudiy a85 Y

REH
Otherwise it may influence the
maintenance.
\_ Al o o i35 8 Y5 )

Adhere ceiling plate to the flange,
leave a space of 2~5 mm between
flange and ceiling plate.

5~ 2 (e e & il 5 ARG il da gl ual)
il A gl A8 G e

| —
H EB Ceiling plate
L ey
Flange « Leave a space of
) 2~5mm

a5~ 2 (ya Al & i

@ Connect duct. = refer to page 11
2.Connect duct
11 daiall L) go )l g L0 L
Sl Jiay 2

@ Insert fixed spring of louver assembly
into groove, install louver to fan body.
g c2522Y) 845l e senal A3l Adlal) Jlal, o8
A el aua A sl e e iy
Louver set plate
Lselll de sanada gl

TR\ —
[/ \\;.\__‘{\\\\\\“\\

¢ RN
/




HOW TO INSTALL

1-2. Fan body installation method 2 (with anchor bolt)
(b 8l ye xe) 2 A8y Hlall A g pall pas S 3

(D Use machine screws (M4x8) to fix adaptor to @ Mount the main body on the anchor

fan body and attach the suspension bracket. bolts (M8 or M10).
A g ) sy Jsmall Capfill (M4X8) Capdil) (21 53 paiiad (M10 51 M8) cufill abusa (o oust  pusal a8
R Unit: mm
ol Eh}”
Adaptor Machine screw B
el (M4x8) iy .
r; > ) 2 N . = —
(M4 x 8) e =3 \ B
Suspension 7 %:% jA Q C
bracket = U= N | S—
Galadll A< 4 ®© J. | .
: - = = (Adjustable range) 25
VVVVVVVV m/wdfslsr])e screws i ( Ju25 s deg” lM!)
B

(M4 x 8) cupill & 5 :
Model No. |A size [B size |C size

Vibration-resistance - \
an bOdy rulbbelr pieceI o ok | Tasall|waaall | & aaal
338U e slaall o)) dxkad 24CMUA
™ preformed hole 24CMHA 286 | 131 ] 139

27CMHA | 290 | 160 | 173

Rubber washer

ice ik .

( Notice bk ) “No.1and No.2 Ceiling i‘a

Ensure to use the 4 machine screws 268051 ) Lklhal Al S £ &

(M4x8) enclosed in accessory packing <58
of suspension bracket. ; / <Ly b

by (A4 Ha A5 (M4AXB) cuiill &) 5 4 aladin) (e 28U h
el AigS cliale Vasher — |~
Horizontal
3 Connect power cord. == refer to page 8 4| Anchor bolt
8 dniall LU an ) b G (S Joaa 5 o8 el e
(_Notice sl )
. . . Please adjust the fan body to level by
@ Insert fixed spring of louver assembly into using a gradienter. Ensure the height
groove, install louver to fan body. ) tolerance of each installed anchor bolt
T a8 a3 3 9AY) (8 Ay seill Ao ganal A0 Adla]) d.&a}_) 8 keeps within £2 mm.
An g el a2 4 sell Ao sana S ) aladiuly (5 gindl) die a g all aus asa oy
Louver set plate o i i lanse JS LY daless dilis Of (1
Gseill Ao samadal \ 2 E 29
‘
\ Z T
— AR\~
¢ NI

Aifall dalal)

10



HOW TO INSTALL

S il 48 )k

2. Connect duct
slisll Ka g

Install duct (not supplied) into adaptor, and then bind them tightly with adhesive tape (not
supplied). Suspend duct from ceiling to prevent external force exerted on the fan body. Install
duct horizontally with a gradient downwards to the outside. And the outlet of duct shall be
located to avoid the rain ingress.

o A AL Tkl 5 58 il il (g S (Bl (3530 ) B my py ALl Ly 51 5 e gmall (3 (3530 ) L ity

bl Jsaa ciatl JanY sl = jde o5 O anay .z B sad Jae Ll 8L s o8 ds g al) g ) J a5l

Adhesive tape (not supplied) , . .

(3330 ) G T3 s ] Outside <)

—— Pipe hood (not supplied)
N ) (3330 )5l olbe

U ,ﬂ;ﬂr ‘VGr?dien;t g

H / = 100~ 50
Duct (not supplied) Wall s

(3300 ) L8

(Notice ksl )
B It must purchase pipe hood with guard.

N PR VPRI S Y U
B The minimum diameter of wall’s hole: 116 mm (For 24CMUA, 24CMHA),
®168 mm (For 27CMHA). ‘
(27CMHA Ui 5all i) e $168 5 (24CMHA 5 24CMUA U2 sall 4ill) aa 9116 il il o) sl
B Please make sure the length of straight pipe between elbow pipe and adaptor is more
than 1 m before installing elbow pipe into adaptor.
Jsnad) g sSU il S 5 d8 o 1 e ST saalls g sSU il G Aaiall i) Jsh o (g0 U o

TEST RUN

Olial) ¢ sl

B \When the power is turned on, please check whether all kinds of anomalies below happen.
oLl 35380 £ il o Cusan e SUI an y ABU Qa3 Leie

 The fan does not run properly. \ \

* The fan is clockwise rotation.

* The fan has abnormal vibration or noise.
sl gpa sl da el AaAple 2 38

N
/ _

M If anomalies happen, please check whether the installation is right.
HLA dSJu f;j k_us‘).d\ U‘ % Ri(l > B AV d‘ Cifaa \A}

11



USE AND MAINTENANCE INSTRUCTIONS

Zlpaall 5 22350 Cilads

/

{ AVVARNII\!G}

By N

B Disconnect power supply before
maintenance.
Adball i ga) S8 Ll (a8 Juadl
Otherwise, the product might
0 operate with the possibility of
electric shock or injury.
AL nall s ad siall e Joadall ca
Ay
B If you will not use this product any
more, remove the product.

ASdy o8 criial) aladiad ¢ i gl i )
Otherwise, the product may fall
down and it may cause injury.

ol Gy s il Lades B Y)
B Do not directly spray this product

with water and other liquids.
LA S g g gl slally B pdile miial) 13a (g a83 Y

® Otherwise, it may cause short
circuit or electric shock .
PPPERVIEPYS FUIPLAGE JEI CRUTWR K ) )
S e

\

B Once flammable gas leaks, do not
start any function of this product.
i) Gy a5 Y (Jadd¥) i A G Jla

Otherwise, it may generate
sparkle and lead to explosion.
Y Y (a5 855510 e Lay 8 V)
Al
B Do not let water flow into the motor.
Losigall JAN (380 olaal) £ 5 Y

Otherwise, it may damage the
product or cause fire.

s 4o gy Sl @il ) i V)5

[ A CAUTION)
AN

B Please wear gloves when cleaning the product.

o Otherwise, it may cause damage.

el A e i U g1
S el g 38 Y

12



HOW TO MAINTENANCE

Alpally slall 448

(Cleaning Precautions)
B Never immerse resin parts in hot water over 60 °C.
Apsie 425060 0o ST Ll Aial sl (& el ) G de siadl ol 52 Y1 jeny 141 s Y

B Never use petrol, benzene thinner or any other such chemicals for cleaning the product.
i) Caaiil AaasSll o) sall 038 e gb S il f cpudl o syl Il anais Y

Clean product <k &

(D Remove the louver. Agsgll AL o @ Wash and clean louver, then dry it
with a soft dry cloth or leave it air dry.
Louver set plate s (i A L 5 i gl e g ity |

sl de samn i

anil o) el 8 LS il 5l ddla

3 Remove dust and dirt on ventilating @ Use a cloth dampened with kitchen
fan body with a vacuum cleaner. detergent, remove any dirt from fan
i o A el s e (e lu Y1y JLall AL 8 body. Wipe dry with new cloth.
Al S i€ pladily Ayl A5 cslaall Calie; Allis (fLad Aalid olasinly 8
Ol Aoy Cadaily o As g al) ana e Flul

REYEEN

Vacuum cleaner
A 5 A€l

® Finally, install the louver again.
(AT B e A5l de sana Cundiy o8 o Al

Louver set plate
A5l Ae sane da )

13



TROUBLESHOOTING

leaa) 5 eUadYl calisia

Check according to the following table and correct the symptom. If the product still does
not work correctly, disconnect the power source and contact After-Sales Service Center

or the dealer.

£ osalb B
Anomaly [Insufficient  [Excessive |Excessive |Overheated |Run Handle
Cause sis A |air flow noise vibration |motor abnormally ey
) SIS e olsa 33N | At slimga [ 22l ) Al | 68 gall A s 30 ) [ 83LG ) gemy Jaad j
Poor foundation o o Reinforce foundation
s ol oY) s
Faulty installation o o Re-adjust installation
Sl b Uas S il Jana Bale)
Low voltage o) Check power source
Sucked in objects/
Adhered dust o) o) O Inspectand clean
Llaad) (il /o) sall mny (pabiaial S
Faulty ducting Inspect and adjust
gw\g_usj&ua; O O O Lyl 5 aadll
Incorrect wiring o Change wiring
Y S 555 paand 3 L NN a5 s

WIRING DIAGRAM

MY Joa 55 adadia

‘ All-pole switch
Red el R (Not included)
Capacitor s i L LY K i
(30 e 22)
M Black 2 T Blue &l .— i
~ Fuse ~
2= Whitegsl _ Browner | L~
(134°C) (Rs=3134)  Green/ e _
(Inmotor) (s  Yellow - Grounding
‘)Mi/‘).;.a;“ % ......... ua‘)h ...... »

14



SPECIFICATIONS

Alaial gall
Power Air delivery | Noise |[Static pressure |Net weight
Model No. Vol[t\?]ge Fre([qﬁg]ncy consumption [m3/h] [dB] [Pa] [ke]
Ay ik V) ol gl 5 ) 3o (W] ehsell Jpasi | sbagall | Saiayihaall | alall o)
V)% (52) () LY il | (el ) | (D) () (=3)
220 50 11 90 25 75
24CMUA 230 50 12 95 25.5 80 39
240 50 13 100 26 85
220 60 12 100 26 90
220 50 20 180 37 105
2ACMHA 230 50 22 190 37.5 110 39
240 50 25 200 38 110
220 60 23 180 37 150
220 50 35 360 37 160
27CMHA 230 50 38 380 37.5 165 5 9
240 50 43 400 38 170
220 60 43 380 37.5 200

B The values of power consumption, air delivery and noise are specified at the static
pressure of 0 Pa.
Pa 0 e vie cull Ly slin suall 5 o sqll gda g diall Dlgin af aai oy
B The values of noise level are A weighted average sound pressure level, the mean value are
measured by our company, within +3 dB and -7 dB to tolerance.
CM\ aall JPEN
B The values of noise level are averaged the test result when tested at the 1 m of leftside,
right side, bottom side in the max air delivery in noise test room.
il Culall 5 () Cailad) 5 ¢ a1 uiladl e 1 Ale e la laa) die HUEAY) Aaii sl gl (5 siue a daw sie s a1y
cslm gual) JLal & je el s gdy il
B The values of air delivery and static pressure are the mid-points of results measured by
our company, within £10% tolerance.
0% = sy Apnlons o (LS 5 a0 Ll i ) oeiliil) Jalis Ja e & il Jaiaall 5 o sg) add
B Insulation class E E Joall 4

The above specification may be changed without further notice.
)\:.m} Q}Ja)\s\ SJJS.JAM LL!LLA\)A\ ‘)J:\’.SUSA:\

15



AMCA SPECIFICATIONS

AMCA claal 50
Power Power
Air delivery and Noise at static pressure consumption {consumption
Model No.|Voltage [Frequency Sl Jaall i slim sl 5 o) gl Juasi Bl gin) | A8 el
EEEE N R SRR P (W] [W]
In.wg | 0 0.1 |0.125| 0.25 [0.375| 0.5 |0.625 X RO
CFM 55 40 37 20
220V 60 Hz - - - 13 12
Sones | 0.3 0.7 | 0.8 1.6
24CMUA
CFM 55 44 41 24
240V 50 Hz - - - 14 13
Sones | 0.3 0.8 10| 14
CFM 94 85 83 72 54
220V | 60Hz - - 25 23
Sones | 1.0 1.4 151191 23
24CMHA
CFM 108 98 95 77 44
240V 50 Hz - - 27 25
Sones 1.4 1.8 19 | 2.1 2.2
220V 60 Hz CFM 208 184 | 178 | 144 | 108 79 B 46 43
Sones 1.6 1.7 1.7 2.3 3.2 3.5
27CMHA
CFM 219 194 | 188 | 150 | 110 70
240V 50 Hz - 46 43
Sones 1.9 1.9 20| 24| 34| 31

The ratings shown are based on tests and procedures performed in accordance with
AMCA Publication 211 and AMCA Publication 311.
AMCA 311 5535 s AMCA 211 5l bt caai il e ja Y1 s ol JUEAY) e aind daia gall ciliyiaail
% The Watts rating is only for AMICA test method and it is at the static pressure of 0 inch
of H.0.
lall im0 Sl Jaiaa die a5 AMCA L) 4 jlal Jah danadie o)) il

%% The Watts rating is only for [EC test method.
JEC _Jliay) day Hylal hais daiade <l gl cildyuas

KDK Company, Division of PES Issue date: 06/2017

. 06/2017 =¥l g s
© KDK Company, Division of PES 2017 P0617-0 24CMHAS2S



